JELLY

PAINTING MACHINE

:\II;IAS:l'ﬁIALI:ATION HOLZ TECHNIC



JELLY HT | Installation manual HOLZ EciNe



HOLZ =i Installation manual | JELLY HT



HOLZ TECHNIC

JELLY HT | Installation manual



HOLZ =i Installation manual | JELLY HT



JELLY HT
Spare part list

MET10

MET18

MET09
JLL2025/JLL2025
METO8
METO7
METO03
JLL2035 METO7
JLL2020
METO1
METO5
JLL2030 METO3
JLL2015
METO06
MET02
JLL2015
MET17B
MET11
JLL2030

MET12
MET17B METOS
MET04 "\

MET13

®—

MET14B

MET15

JELLY HT | Installation manual HOLZ EciNe



CODE description pcs. CODE description pcs.
Paint bucket %‘
JLL2015 Rolls METO09 without lid, 1 \
sieve & taps
Lid for paint
JLL2020 Brushes MET10 bucket 1
JLL2025 Taps Upper rollholder 1
MET11 fixation 1
(left + right)
JLL2025SET Taps set
MET12 Paint 1
JLL2030 Rglls holder set aint pan
(without rolls)
@0
MET13 Drain tap 1 \‘5‘
Brush holder fixing
plate set
JLL2035 (without brushes)
Leg
MET14B (|r7cl. Cap MET15; 1
Rolls holder fixing without fixing-
METO1 screw METO03)
plate
Screw M6 foot QIS
METO2 stop female !
Screw M6 x 16 mm
METO3 foot stop male 1 ié MET15 Cap for leg 1 @
METO04 Entry ;ulpport rod 1 MET16 Spacer screw 1 %
(incl. fixing screws)
Screw M8 foot Q%Y Inlet/Outlet
METO5 S, 1 NEp MET178B ot 1
METO06 Screw M8 x 10 mm 1
foot stop male
METO07 Thumbscrew 1 @; MET18 Sievs for paint 1
M8 x 20 mm bucket
METO8 Lower plate 1
HOLZ =i Installation manual | JELLY HT




HOLZ TECHNIC

Rotho Blaas Srl

Via dellAdige n.2/1 | 39040 Cortaccia (BZ) | Italia
Tel. +39 0471 81 84 00 | info@holztechnic.com
www.holztechnic.com

Make it easy.

O1HTJELLYINS



